1.(15%)(Fc s + 3%//INE)

(a) #E=1EE (statistics)

Statistics is the discipline (art and science) that concerns the collection ,
organization , analysis , interpretation , and presentation of data.
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(b) #EETHESm (statistical inference)

Statistical inference is the process of using data obtained from a sample to make
estimates and test hypotheses about the characteristics of a population.
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(c) BEAZE (sample space)

The sample space for a random experiment is the set of all experimental outcomes.
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(d) &t (joint probability)

The probability of the intersection of two events is called joint probability .
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(e) #E17=E{F(independent event)

Two events A and B are independent if P(A|B) = P(A) or P(B|A) = P(B))
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(c)(5%)Relative Frequency Method: assigning probabilities based on experimental or
historical data. That is when data are available to estimate the proportion of the time
the experimental outcome will occur if the experiment is repeated a large number of
times.
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(d)(5%)

\When the data are believed to approximate a bell-shaped distribution (e.g., normal
distribution), the empirical rule can be used to determine the percentage of data
values that must be within a specified number of standard deviations of the mean.
Approximately (68%, 95%, 99%) of the data values will be within (one, two, three)
standard deviation of the mean.
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